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Attempt any five question in all, selecting one question from each unit.
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No supplementary answer book will be given to any candidate. Hence the candidate should write the

answer precisely in the main answer book only
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All the parts of one question should be answered at one place in the answer book. One complete question

should not be answered at different places in the -nswer book.
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Questions have been set English and their translation in Hindi has been appended for the convenience

of the candidates.
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concept and conventions.
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OR / 3

8. Ltd. redeems at 20% premium its, 5000. 10% preference Share Capital of ¥100 each out of

general reserve on 31st March, 2020. At the lime of redemption on option is given by the company
to the preference shareholder o conver! [h€ir shares into Equity Shares of ¥10 each issued

@ 30 per shares 60% of preference Hh;;;-.-]njders accepted this option pass necessary Journal

r
entries. ' (200
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UNIT-II / 3&i-11

2. Esxplain the meaning of debenture and its various types. (5+15)
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S. Ltd. issued 30,000 12% Debentures of T100 each on 1st April, 2010 at Par and the same
were redeemable on 31st March, 2020. The debenture redemption reserve stood at ¥2,00,000 on
1= April, 2018. The company deposited the required amount in fixed deposit in Government
Securities on 30* April, 2019. Investment were encashed and debentures were redeemed on due

date. Give journal entries both at the time of issue and redemption of Debentures. (200
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UNIT-I / 3&FE-I11

3. Write short note on Managerial Reinuneration. (20)
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Write notes on the following :
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(1t Issue of Bonus Shares (10)
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ur Capitalisation of Profits
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UNIT-1V ' TFE-1V

From the following particulars. ealculate the value of Goodwill by the annuity method bazed at
three vears purchase of super profit. 2f)
efafes faswn § wa #1 mm svasi £ 3 9§l # g 2 afes gfa F wmw = =

Net Assets ¥15.00.000

2 Tl 15.00.000

10% Govt. Securities 32.00,000

104 = wiagfaal 22,00,000
1) Net profit of past 3 yvears 2,30.000 in 2018; ¥1,80,000 in 2019 and ¥2,80.000 in 2020.

fozer 2 39 F 19 2018 9 22,30,000; 2019 9 T1,80,000 37 2020 # 22.80,000
v Profit for 2019 arrived after 30,000 debiting as loss on sale of assets.
9010 79 F =19 730,000 1 Fmfd fawa @ w7l F A2H & = H\ €
Fair remuneration of owner 320,000 per annum.
Ty F1 3fea wivafaE 220,000 AfdH
(vi} Normal rate of return 12%
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2 ixplain the various methods of valuation of equity

W&t do you mean by valuation of shares
(5+15)

shares.
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UNIT-V/ $&E-v

What ; . .
is Installment Payrment System and ho does it differ from Hire Purchase System? (5+15)
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Calculate the grogs Profit ang

grosg profit perientage for the
books of M/s.

purpose of insurance claim from the

8. B. Brog, (10+10)
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Trading and Profit and Loss A/c
For the year ending 31st March, 2020

,I[; articulars z Particulars 3 _’
' To Opening Stock 1.20.00 | By Sales 3,00,000 |

| To Purchase 2,80,000 | By Closing Stock 2,00,000

| To Gross Profit 1,00,000 |

' ‘—_"‘5}00‘000 5,00,000 :
To Variable Exp. 60.000—_, By Gross Profit 1,00,000 |
To Standing Exp. 1,20,000 By Net Loss 80,000 |

L 1,80,000 | 1,80,000 |

Insured standing charges were 390,000.
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